Area
Amount of space inside a 2-D object.
Always measured in ‘square units’ eg. cm2 or m2

Rectangle:   


                                                    Width        Area = length x width

                             Length

Triangle:
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Parallelogram: 

Looks like a collapsed rectangle and has a similar formula
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Area = length x height

Trapezium:

A four sided shape with one pair of parallel sides.
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Past Paper Examples
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The frame is the same width all the way round, so from looking at the height we know it must be 5cm thick. 

So x = 2 x 5 +15 = 25 cm
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Area of large square = 30x = 30 x 25 = 750 cm2
Area of small square = 15 x 20 = 300 cm2
Area of frame = 750 – 300 = 450 cm2
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